HARI VIDYA BHAWAN

Session- 2020-2021
Subject- Business Studies (054)
Class -12%"
Worksheet-27
Chapter-5 Organising

General instruction :

e Solve the worksheet in your Fair Subject Note Book.

e Complete this worksheets as your Periodic Test |. Marks would be
given to those who complete it else you will have to go through pen
paper test after the school reopens.

e To solve this worksheet you can take help of the following link:
https://youtu.be/vH403c9GDo4 ( Topic- Organising and process of
organising)
https://youtu.be/T1ISAKSW5D4M ( Topic- Organisation Structure )

Topic: Organisation Structure : Functional organisation
Structure and Divisional Organisation Structure and Case
Studies ( Most important topics)

Q.1. What is meant by ‘Functional structure' of an
organisational? State its any four advantages.

Q.2. With the help of diagram, give the meaning of 'Divisional
Structure' . Explain any four advantages of this structure.

Q.3. Differentiate between Functional Structure and Divisional
Structure?

Q.4.‘Himalaya Ltd.’, is engaged in manufacturing of washing
machines. The target of the organization is to manufacture
500 washing machines in aday. There is an occupational
specialization in the organization which promotes
efficiency of employees. There is no duplication of efforts
In such type or organization structure. Identify the type of
organization structure described above.

a) Functional organisation Structure



https://youtu.be/vH4O3c9GDo4
https://youtu.be/T1SAKSW5D4M

b)Divisional Organisation Structure
c)Both (a) and (b)
d)None of above
Q.5. A truck manufacturing company has its registered office
in Delhi, manufacturing unit at Gurgaon and marketing
department is located at Faridabad. The company
manufactures different types of trucks. Which type of
organizational structure should it adopt to achieve its
target?
a) Functional organisation Structure
b)Divisional Organisation Structure
c)Formal organization Structure
d)Informal organization Structure
Q.6. An electronic company manufacturing TV and
Refrigerators wants to bring two new Washing machines
and ACs in the market. For each product separate division
IS to be set up. In charge of washing machine division and
ACs division will be females and disabled person
respectively. What type of organizational structure is
suitable for this company?
a) Functional organisation Structure
b)Divisional Organisation Structure
c)Formal organization Structure
d)Informal organization Structure
Q.7. Surekha runda shoe manufacturing factory. She wants to
expand her business. For expension she contemplate to
enter into the manufacturing of leather bags and western
formal wear apart from the running business of shoes. By
doing this her company will be able to provide many
products to working women under one roof.
Which Organisation Structure will you suggest her.
a) Functional organisation Structure
b)Divisional Organisation Structure
c)Formal organization Structure



d)Informal organization Structure

Q.8. Kiran Industries is company manufacturing office
furniture. The company chose to diversify its operations to
improve its growth potential and increase market share.
As the project was important
many alternatives were generated for the purpose and
were thoroughly discussed amongst the members of the
organization. After evaluating the various alternatives
Sukhvinder, the Managing Director of the company
decided that they should add ‘Home Interiors and
Furnishings’ as a new line of business activity.

|. Name the framework, which the diversified organization
should adopt, to enable it to cope with the emerging
complexity? Give one reason in support of your answer.

II. State limitations of this framework.
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General Instructions

1. Students you have to do the assignments in your fair notebook.

2. Complete all the worksheets as your periodic test 1 marks would be given to those
who complete their worksheets else you will have to go through pen paper test after
the school reopens.

3. For chapter explanation see the links given: (https://youtu.be/blV-ugVqjf4)

(https://youtu.be/JVIkvKumjy0)

4. All the MCQ answers will be given in the whatsapp group .

5. For short answers refer — English Core : Pg. No. 215.

Note : This worksheet is based on the revised English paper format.

Read the following extract and answer the given questions with the help of the options
given:

The train arrived at midnight 15 April 1917.Kriplani was waiting at the station with a large
body of students. Gandhi stayed there for two days in the home of professor Malkani,a
teacher in a government school. “It was an extraordinary thing in those days”.

Q1.Where did the train arrive?
(a) Champaran
(b) Motihari
(c) Calcutta
(d) Muzaffarpur

Q2Who is Kriplani?
(a) Professor of the arts college in Muzaffarpur.
(b) professor of the arts college in Champaran.
(c) A government school teacher.
(d) A lawyer

Q3.What do you understand by ‘those days’?
(a) Days before freedom


https://youtu.be/blV-ugVqjf4
https://youtu.be/JVlkvKumjy0

(b) Days after freedom
(c) Days after 1947
(d) Days of 1947

Q4Why did Gandhi go to Muzaffarpur?
(a) To meet Kriplani.
(b) To meet Malkani

(c) To get information of the sharecroppers
(d) To search Rajkumar shukla

Answer the following questions in 30 to 40 words:
Q1.Why 1s Rajkumar shukla described as being “resolute”?
Q2. Why do you think the servants thought Gandhiji to be another peasant?

Q3. List the places that Gandhiji visited between his first meeting with Shukla and his arrival
at Champaran.

Q4. Why did Gandhiji agree to a settlement of 25% refund to the farmers?
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Chapter-9 Globalisation

General instruction :

(I) Solve the worksheet in your subject Note Book.

(I1) Complete this worksheets as your Periodic Test |. Marks would be given to those who
complete it else you will have to go through pen paper test after the school reopens.

(1) To solve this worksheet you can take help of the following link:

https://youtu.be/yy44hTvWLVQ

QUESTIONS

Q1. Complete the sentence..
Globalizationisa .......ccccceveennn. concept.
Q2. State True or False
The consequences of globalisation are confined only to the sphere of politics and economy.

Q3. Match the Following

A B
(1) Free flows of ideas. (a) Cultural Globalisation
(II) Bird flu. (b) Political Globalisation
(Ill) Erosion of state sovereignty. (c) Worldwide phenomenon
(IV) Jeans culture. (d) Globalisation

Q4-. Define Globalisation.

Q5. List the factors responsible for Globalisation.

Edit with WPS Office



Q6. Clarify any two positive and any two negative effects of globalisation.
Q7. How has technology contributed to the globalisation?

Q8. Why is globalisation a multidimensional concept?
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